Algebra2 Bellwork  Mon, June 1, 2015  Sec 12-3

Below is the data for two classes.

Class A:

Hwk % completion: Xmn =17.6 (01=52.9 Med=69.1 (03 =289.7 Xm= 100
Overall Grades (%): Xmin =50.1 Q1 =664 Med=76.8 (03 =812  Xp=0977
Class B:

Hwk % completion:  Xpin =353 Q01 =676 Med=824 (03 =100 Xmx= 100
Overall Grades (%): Xmin =68.6 Q01 =737 Med=79.4 (03=924 Xupx=96.9

Using the number line below make a box-and-whisker plots for the hwk % completion for each class.
Put Class A above the number line and Class B below. Then answer the questions using the plot.
Class A:
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Class B:

If you completed about 68% of your homework:

In Class A about what % of the class did completed more homework than you?
In Class B about what % of the class did completed more homework than you?
If you completed about 85% of your homework:

In Class A about what % of the class did completed less homework than you?
In Class B about what % of the class did completed less homework than you?
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Using the number line below make a box-and-whisker plots for the Overall Grades (%) for each class.
Put Class A above the number line and Class B below. Then answer the questions using the plot.

Class A:
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Class B:

3. If your overall grade is about a 67%:

a. In Class A about what % of the class has a lower grade than you?

b. In Class B about what % of the class has a lower grade than you?

4. a. In Class A what is the range of the middle 50% of the class (Interquartile range)?
b

. In Class B what is the range of the middle 50% of the class (Interquartile range)?
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Below is the data for two classes. » | | -
Class A:

Hwk % completion:  Xyin =17.6 01 =529 Med=69.1 (03 =897 Xumx= 100
Overall Grades (%): Xmin =50.1 Ql =664 Med=76.8 (3 =812  Xpw =977
Class B:

Hwk % completion:  Xpin =35.3 Q01 =676 Med=824 (03=100 Xmx= 100
Overall Grades (%):  Xmin = 68.6 Q1 =73.7 Med=79.4 (03=924 Xon=969

Using the number line below make a box-and-whisker plots for the hwk % completion for each class.
Put Class A above the number line and Class B below. Then answer the questions using the plot.

Class A:
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. Ifyou com‘pleted"ab'out 68% of your homework: -

1
a. In Class A about what % of the class did completed more homework than you? S0 e
b. In Class B about what % of the class did completed more homework than you? ) S 7
2. If you completed about 85% of your homework: o

a. In Class A about what % of the class did completed less homework than you? /> '@
b. In Class B about what % of the class did completed less homework than you? 57

Using the number line below make a box-and-whisker plots for the Overall Grades (%) for each class.
Put Class A above the number line and Class B below. Then answer the questions using the plot.
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3. If your overall grade is about a 67%: T /,
a. In Class A about what % of the class has a lower grade than you? L )
b. In Class B about what % of the class has a lower grade than you? © / : / L/ g
? ’

4. a. In Class A what is the range of the middle 50% of the class (Interquartile range)
b. In Class B what is the range of the middle 50% of the class (Interquartile range)? / g, 7



